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Match #35


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Jason Mueller, Marian Suter, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, 10 points each

1. 
Former Virginia basketball coach Pete Gillen once complained that Duke was on TV more often than re-runs of this television show.  The late Hugh Beaumont played a businessman named Ward, while Barbara Billingsley portrayed his wife, June.  Tony Dow was older brother Wally in what sitcom that ran from 1957 to 1963, centering on Jerry Mathers as Theodore Cleaver?

ANSWER:  Leave It to Beaver
2. 
This young Cuban boy is devoted to Santiago, fishes with him, and begs or steals to make sure Santiago does not go hungry. Who is this character in Ernest Hemingway's The Old Man and the Sea?

ANSWER: Manolin
3. 
This substance not only can heal humans, it can also turn base substances into gold.  What ‘Holy Grail’ of alchemy featured prominently in the first Harry Potter novel?
ANSWER: Philosopher’s stone
4. 
They were replaced in the 18th century by the clipper and the man o' war. First built in the 16th century, they replaced the caravel and the nao. Some of the ones built for trade between Manila and Acapulco were 2000 tons. What ships made up the backbone of the famous Spanish treasure fleets? 

ANSWER: galleons

5. 
THIS IS A COMPUTATION QUESTION. What is the midpoint between the points (8, 13) and (34, 19)?

ANSWER:  (21, 16)
6. 
Both a church steeple and the tip of a tree in the left foreground point to the sky in this painting.  Completed by the artist while he was in a French asylum in 1889, it now hangs in New York's Museum of Modern Art.  What is this landscape masterpiece by Vincent Van Gogh, with dark blue and swirling yellows dominating the evening sky?

ANSWER:  Starry Night
7. 
What type of radiation consists of helium nuclei?

ANSWER:  alpha
8. 
What is the term for one who invests his or her capital and assumes the risks and management of a business in hopes of making a profit?

ANSWER: entrepreneur (ahn-truh-pruh-noor)

9. 
It opens with the lines "I saw the best minds of my generation destroyed by madness, starving / hysterical naked / dragging themselves through the negro streets at dawn looking for an / angry fix." What is the name of this poem, considered the foremost poetic expression of the Beat movement of the 1950s, written by Allen Ginsberg?

ANSWER: Howl
10. 
It is a string of barrier islands stretching for about 90 miles along the Atlantic coast. Its major islands include Ocracoke and Hatteras. What portion of North Carolina contains the towns of Nags Head, Kitty Hawk and Kill Devil Hills, and is a popular vacation and aviation destination?

ANSWER: Outer Banks
11. 
What type of joint is found between the humerus and ulna?

ANSWER:  hinge
12. 
From the Earth to the Moon concerns a group of obsessive American Civil War veterans, members of the Baltimore Gun Club, who come up with the idea of creating an enormous cannon in order to shoot a "space-bullet" to the Moon from a site in Florida. Name the author, who also published Around the World in Eighty Days.

ANSWER:  Jules Verne
13. 
In 1916, he led a failed expedition to catch the Mexican outlaw Pancho Villa. George Washington and this man are the only ones to hold the rank of General of the Armies of the United States. Who commanded the American Expeditionary Force during World War I?

ANSWER: John J. Pershing
14. 
Citizens of Prague loved this musician, as he once remarked, "My Czechs understand me".  The Villa Bertramka in Prague is a museum devoted to him, and the city was the site of the 1787 premiere of his opera Don Giovanni.  Who was this Austrian composer of A Little Night Music and The Marriage of Figaro? 

ANSWER:  Wolfgang Amadeus Mozart
15.  This place was the site of Omphalos, or the center of the Greek world.  Apollo allowed Dionysus to stay here during the winter while he visited the Hyperboreans, but ruled the other nine months; he gained control over the place by slaying a dragon named Python.  Identify this location on Mount Parnassus, home to a famous oracle.

ANSWER:  Delphi
Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A. 
THIS IS A COMPUTATION QUESTION. How many sides does a rhombus have?

ANSWER:  four
1B. 
What is the capital of the country of Nepal?

ANSWER: Katmandu [kat-man-DOO]

2A. 
The word olfactory refers to what sense?

ANSWER:  smell
2B. 
THIS IS A COMPUTATION QUESTION. A baseball player plays poorly, getting only 90 hits in his first 500 at-bats. However, after drinking milk, he goes on a tear, getting 40 hits in his last 100 at-bats. Rounded to the nearest thousandth, what is his average for the entire season?

ANSWER:  .217 (130 / 600)

3A. 
Which Renaissance sculptor's works include the relief Madonna of the Steps, a marble David, a Pieta (pee-ay-TAH), and frescoes for the Sistine Chapel?

ANSWER:  Michelangelo Buonaroti

3B. 
"Combat", "Ms. Pac-Man", "Pitfall", and "Pole Position" were among the more prominent games that could be played on what popular video game console of the 1980s that featured one-button joysticks and paddle controllers?

ANSWER:  Atari 2600 (prompt on just ‘Atari’)
4A. 
Name the play written by Laurence and Lee that is based on the Scopes Monkey Trial.

ANSWER: Inherit the Wind
4B.
What is the chemical formula for oxalic acid?

ANSWER:  C2H2O4
5A. 
George Mason wrote what document that was adopted by the Virginia Convention of Delegates on June 12, 1776, and from which Thomas Jefferson drew when he was writing the Declaration of Independence? 

ANSWER: Virginia Declaration of Rights
5B. 
She represents both the virtue Glory and Queen Elizabeth I. Who is this title character created by Edmund Spenser?

ANSWER: The Faerie Queen
6A. 
In C and C++, what type of variable does not have a number or character value, but instead has a memory address as its value?

ANSWER: pointer
6B. 
What king of Pontus was said to have lived a long life due to his taking small doses of every poison he knew of, until he had built up immunity?

ANSWER: Mithridates (mih-thrih-DAH-teez) VI

7A. 
What character in the book of Genesis was the father of Moab and Ammon through an incestuous union with his daughters?

ANSWER: Lot
7B. 
Monotremes are mammals with what unique characteristic?

ANSWER:  lay eggs

8A. 
What is the term for a form of government in which a select few people have the power, a term that comes from Greek words meaning "few" and "rule"?

ANSWER: oligarchy (ol-uh-GARK-e) (DO NOT accept aristocracy, which means "best" and "rule")

8B. 
THIS IS A COMPUTATION QUESTION. What is the determinant of the 2-by-2 matrix whose top row, read left to right, is 7 and 2 and whose bottom row, read left to right, is 3 and 1?

ANSWER:  one
9A. 
THIS IS A COMPUTATION QUESTION. Convert the Roman numeral CCCXXIV into a regular, base-10 number.

ANSWER:  324
9B. 
Name the E.M. Forster novel in which Adela Quested and Dr. Aziz visit the Marabar Caves. 

ANSWER: A Passage to India
10A. 
What admiral commanded the U.S. Pacific Fleet during World War II and represented the US at the Japanese declaration of surrender on September 2, 1945? 

ANSWER: Admiral Chester Nimitz
10B. 
May 2005 saw the final UN peacekeepers leave what breakaway region of Indonesia that became an independent country on May 20, 2002?

ANSWER: East Timor
Third period, 15 toss-ups, 10 points each
1. 
Dave Zabriskie became the third American do accomplish what feat by defeating Lance Armstrong in the Prologue of this year's Tour de France?

ANSWER: wear the yellow jersey (Accept clear knowledge equivalents)

2. 
The Southern Hemisphere has little land at the required latitudes; hence this biome is seen mostly in Canada and Russia. What biome is characterized by large numbers of coniferous trees? 

ANSWER: taiga or boreal forest
3. 
In 73 BC, he led an escape from a gladiator school, fleeing to Mount Vesuvius, where he gathered more soldiers in his army. He defeated several Roman legions but was finally cornered in southeastern Italy in 71 BC by Crassus, who ordered thousands of his followers to be crucified along the Appian Way. Who led the most famous slave revolt against the Roman Republic?

ANSWER: Spartacus
4. 
He is described as a "fierce-looking Berkshire boar, not much of a talker, but with a reputation for getting his own way." He uses dogs as shock troops and shows complete disregard for his people's sufferings. Name this leader of the pigs in Orwell's Animal Farm.

ANSWER: Napoleon
5. 
THIS IS A COMPUTATION QUESTION. In a fraction in simplest terms, what is 2/5 times 5/9 times 9/13?

ANSWER:  2/13
6. 
Elizabeth Cochrane left Hoboken, New Jersey on November 14, 1889 in an attempt to outdo Phileas Fogg and managed to travel around the world in just 72 days. Under what pen name did she write about this experience?

ANSWER: Nellie Bly
7. 
In the book of Numbers, chapter 20, he dies on Mount Hor. In Exodus, chapter 32, he acceded to the Israelites' demands and made them a golden calf that they might worship. What man, considered the head and founder of the Jewish priesthood, was the older brother of Moses?

ANSWER: Aaron
8. 
Elias Howe, who had patented a similar machine in 1846, brought suit against this American inventor, and won. The inventor continued his efforts, however, bringing together several related patents to create his popular machine. Name this man credited with developing the first commercially successful sewing machine.

ANSWER: Isaac Merrit Singer
9. 
Most members are part of the New Clean Government, Democrat or Liberal Democrat Parties. It is split into two houses: the House of Councilors and the House of Representatives. Laws passed by it are then approved by the Emperor. In 2003, it appointed Junichiro Koizumi (joo-nee-CHEE-roh koh-ee-ZOO-mee) as Prime Minister. What is the name of the Japanese parliament?

ANSWER: National Diet
10. 
They are different from accessories in that they are present at the scene of a crime, but are the same as accessories in that they did not commit the crime. The getaway driver in a bank robbery is an example of what type of person who aids and abets the committing of a crime? 

ANSWER: accomplice
11. 
In one episode, she does everything she can to get Davy Jones to perform at her high school's Junior Prom.  She gave a lot to her brother, including a Student Council position and a room in the attic, and when one of her brothers hit her with a football, she replied, "Oh, my nose!"  Maureen McCormick played what eldest daughter on "The Brady Bunch", whose name was chanted three times whenever Jan got jealous?

ANSWER: Marcia Brady

12. 
Formic and lactic are two weak examples of what chemical compounds that give up protons, most often doing so to a base, to form a salt?

ANSWER:  acids

13. 
Outbreaks of it occurred in 1832 and 1848 in New York City.  Name this intestinal infection, commonly found in India and sub-Saharan Africa, spread through contaminated drinking water that is also know as St. Vitus' dance.

ANSWER:  cholera
14. 
The second and least-known ruler with this name ruled during much of the Peloponnesian War but was reluctant to fight the Athenians once more. The third ruler with this name lost three battles to Alexander the Great, ending his country's empire. The first king with this name lost the battle of Marathon. What name is shared by these three Persian rulers?

ANSWER: (Persian Emperors named) Darius
15. 
In the sentence "Residents find the park peaceful and soothing," identify the object complements.

ANSWER: peaceful and soothing
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1. 
Along with its recently approved merger with MCI, what New-York based telephone giant is spending millions in Northern Virginia and Richmond, among other areas, to introduce its fiber optic-based FiOS network?

ANSWER: Verizon (Do NOT accept "Verizon Wireless")

2. 
This term comes from two Japanese words meaning 'harbor wave'. They are preceded by a receding of water levels, then a rapid rise in water levels that can destroy everything in their path. Earthquakes and meteor impacts are potential causes of what natural disaster that most recently befell the Indian Ocean on December 26, 2004? 

ANSWER: tsunamis (do not accept 'tidal waves')

3. 
Henry McCarty was his real name and William Henry Bonney was an alias he used. Between 1875 and his 1883 death, he was a fugitive for several crimes, mostly revolving around his role in the Lincoln County War. New Mexico Governor Bill Richardson is considering issuing a pardon for what famous outlaw that probably killed nine people, but was finally shot in the back by Sheriff Pat Garrett?

ANSWER: Billy the Kid
4. 
What set has a cardinality of zero, that is to say, it has no members?

ANSWER:  empty or null set

5.  To form the plural of nouns in this language, simply add a 'j', which is pronounced like 'y' in yes, to the end of the noun, which always ends in 'o'. Adverbs end in 'e', adjectives in 'a' and verb infinitives in 'i' in what language that Ludwig Zamenhof invented?

ANSWER: Esperanto
All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

